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Level 2 Biology, 2017
91159  Demonstrate understanding of gene expression

2.00 p.m. Wednesday 22 November 2017 
Credits: Four

Achievement Achievement with Merit Achievement with Excellence
Demonstrate understanding of gene 
expression.

Demonstrate in-depth understanding of 
gene expression.

Demonstrate comprehensive 
understanding of gene expression.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more space for any answer, use the page(s) provided at the back of this booklet and clearly 
number the question.

Check that this booklet has pages 2 – 12 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

Merit

13

No part of the candidate evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.





















     

Subject:   BIOLOGY   Standard:   91159   Total  score:   13  

Q   Grade  
score   Annotation  

1   M6  

Anti-­parallel  nature  and  base  pairing  rule  shown.  

Unclear  about  transcription  and  translation.  

Comprehensive  explanation  of  Protein  Synthesis  is  given.  

Roles  of  tRNA,  mRNA  are  explained  

Explanation  for  tRNA  being  shorter  than  mRNA  is  given.  

Reason  for  DNA  not  being  directly  translated  given.  

2   A4  
Identifies  mutation  as  substitution,  states  a  different  amino  acid  is  coded  for  
and  therefore  the  protein  has  a  different  structure.  

Describes  degeneracy.  

3   A3  

States  that  genes  code  for  enzymes.  

States  that  a  mutation  stops  the  desired  products  forming  and  build  up  of  
products  occurs.  

Identifies  that  Gene1’s  mutation  is  more  serious  than  that  of  Gene  3.  

  




